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������	�����	�) ��&��� �*���� ,����(���	� ��&�����-

����) ���������� ,��*���� � ��&����� ������)*������ ����*���. 

������	�
 ������)*������ ����*�� �����	�
. �������
 �*����

,�����	��� ������)*������ ����*��. �����(���	' ��&�������-

��) ���������� ,��*���� �*������	�) ,� �	�,��� �����#&���)

�*���� ,�����	��� ������)*������ ����*�� �	 ����� �����	�
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,�����	��� ������)*������ ����*��. 

,� �������� ��.� ���
����
  	�����	���� ��	�����, 	��	�
-

.���
 � 	���������	 �, 
	��� ���	 � ������ ��������! ��	����	�, 

����� �� �����	������ �	� ������ ��������� ��	�����. ���� 	�-

��  	�����	����� �����	����	�	 �	� ����	�	 ��	����� �(t), �	���-

�
��	���
 ������
 (%�) �	�	�	�	 	������
���
 �		��	�����   

,cos)( 2 τβ⋅⋅σ=τ
τα−

xxx
xeK                                 (1) 

��� 2

xσ  – ��������
 �������	�	 ��	����� �(t); �α  – �	(�������� ��-

�����
��	��� �������	�	 ��	����� �(t); �β  – ���	
����-.�
 ����	��

� ������� �������	�	 ��	����� �(t). 

"� �		��	����
 (1) � ��   

,,0,cos][ 2 mjtjejK x

tj

xx
x =∆β⋅⋅σ=

∆α−
                        (2) 

��� ttjttKjK jjxx ∆∆== ;);(][  – �������� ��������	��� �� �����


�������	�	 ��	����� �(t). 
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��! �������, � �-.�! �����	�  ��� �������	� 	������� � ������-
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/���� xm  – 	�����  ��� �������	�	 	������
 �������	� �	����	��-

�����	���, 

.)();(ˆ][ˆ;);(ˆ][ˆ;,1],[ˆ tjittxjixtjttKjKniix jijijjxx ∆+==+∆=== ++

,� ���. 1 ��
 ���� ���	� ;25,0=∆t  ;600=n  ;60=m  ;5=σx

;2=βx  2,0=α x �	������ ������� %� ,,0],[ˆ],[ mjjKjK xx = ������-

�����! �	 �	� ���  (2),(5),(6). 
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/���� cck fmfffkf ;/; =∆∆⋅=  – ����	�� �����. 

���. 1. ������� %� mjjKjK xx ,0],[],[ =
�

; 

______________ – %� ;,0],[ mjjK x =   

- - - - -  – %� mjjK x ,0],[ =
�

'������� ���������- 	����� mkkG ,0],[* = ����������	�

��	��	��� � ���� [3]: 





�




�




+−=

−=+++−=

+=

].[5,0]1[5,0][

;1,1],1[25,0][5,0]1[25,0][

];1[5,0]0[5,0]0[

*

*

*

mGmGmG

mkkGkGkGkG

GGG

��

���

��

      (10) 



85

,� ���. 2 ��
 ���� ���	� ;25,0=∆t  ;600=n  ;60=m  ;5=σx

;2=βx  2,0=αx �������� ������ mkkG ,0],[* = ��������	� ����-

������	� ��	��	���, ����������	� �	 �	� ���  (8),(9),(10). 

���. 2. ������ mkkG ,0],[* =
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'����������  ��� ����	�	 (�� ���� �  ������ 6111 ,1],[ kkkS =
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���������� ������	� 3,1,,,, =δαβσ iixxx
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���������� ������	� �� >&�

���� ����&���-

���� t∆ n m xσ xσ
�

xβ
xβ

�

xα xα
�

,%1δ ,%2δ ,%3δ

1 0,3 600 60 5 5,2 3,5 3,5 0,5 0,5 2,5 0,1 10 

2 0,2 600 60 5 5,0 3,5 3,4 0,5 0,5 0,1 4,3 6 

3 0,1 600 60 5 5,0 7 6,7 0,5 0,6 0,3 4,4 12 

4 1 1000 100 5 4,7 0,4 0,4 0,1 0,1 6,8 1 0 

5 0,1 1000 100 5 6,0 1,8 1,9 0,3 0,3 20,4 3,7 18 

6 0,3 600 60 5 4,7 2 2,0 0,2 0,2 6,2 3 10 

+��� 	
���	 , � ��
	�� ���	����� 	����� �	�����	���  	��-

���	����
 �������	�	 ��	����� � ������	� �	����
��	��	� ��������. 
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